@
"NPIN

'73W nwivw n1'na

N'22182 NN N1'N2 |I1]19'7 nyxn

G 21TIn

[N 7NINAI 2'IN1A 'D10 T 7W ANd) [INNON

71X 1N'NN 1Y M NIXn

Monix'oginMA1 7R E | www.ankori.co.il | 1800-85-85-85 | MIFIN 711'Na WA



ATRA] ol il J) 350 B d)5¢ 55 NPNEN DPOOY N3N ADY 4T NYYHN 5 NWHIHHITEI

\
R "N 1D713,016582 'DN ,279WN ¥p I

/ 5V In some countries, governments and conservation organizations are paying farmers to plant
I\~

:5?}"/“1 trees and wild flowers on the land they no longer farm. "Many of these areas have become tourist
'\’6',l’| attractions, with people coming for the thrill of seeing wild animals in their natural habitat," says

economist Gemma Richards. "Local farmers often provide visitors with a comfortable place to stay.
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They may no longer be doing traditional farming but they're still generating enough income to stay in
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30 the countryside. Everybody wins."
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QUESTIONS (60 points)
Answer questions 1-7 in English according to the article. In questions 1, 4, 5 and 6, circle the
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|| number of the correct answer. In the other questions, follow the instructions.

N

_(L;\); 1. What do we learn from paragraph [ about the abandoning of farmland?
vy @ What is happening as a result of it.

i"f‘l\\_\_y ii) What is causing it.

_\'.l\,‘l ii1)  Where it first began.

iv)  Why it is happening so slowly.

il,\ i (6 points)

B Ky 2.  What fact mentioned in lines 4-5 shows that the change is dramatic?

ARG aNswEr: Fof the first time in human history, the amount of farmed land is _
actually decreasing/ An area twice the size of Greece went from; poins)
farmland to wilderness.
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In line 7 the writer refers to the choices consumers make. What TWO consumer choices are presented
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in paragraph 11?
\ COMPLETE THE SENTENCES.
'ff 1) Consumers Zenerally opt for the least expensive vegetables and meat..
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4. What s explained in paragraph I1?

i) Why use of chemicals helps plants grow.
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il) How farmland is being taken over by cities. J\l,l\ SV
7t W

Why industrial f dern technol N Lo

ii1) y industrial farms use modern technology. Vik gl

iv) How people find better-paid jobs in the city. _
(6 points) ;\l\\‘ .
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5.  What can we understand from paragraph II1?
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i) How pollution damages farmland.
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ii)  How air quality affects plant species. Y
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ii1) How farmland is cleared before re-naturing. \:\',:\’Z\)r
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@ How re-naturing can benefit animals. (7 points)  [JIMSY S
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6. According to Lawson, why can't you "just turn off the tractors and walk away" (lines 19-20)?
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i) it takes time for farmers to find another job
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@ the land needs to be prepared for re-naturing
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i1i) animals will still need to be looked after
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iv) leaving the tractors will damage the land et
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(6 points)
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7. Why does Richards say that "Everybody wins" (line 30)? Give TWO answers from paragraph V,
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COMPLETE THE ANSWERS. My
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1)  Lines 26-27: Because tourists are able 10 .........cccciiiiiieiieirieeeieeseessieeseesseesseesseessseesseessseassessenses NAT
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2)  Lines 28-30: Because farmers can make Money by ........ccooooeiiiiiiiiciccicee e e J‘N
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(2X7=14 points)
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